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BOOKS - NAVBODH MATHS (HINGLISH)

ARITHMETIC PROGESSION

Examples For Practice

1. What is the sum of first n natural numbers ?

n(n — 1)

A.
2



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FdvyxcXRL4A8

B.
2
C.—(n—2)
nin + 2
o ( )
2
Answer: B

° Watch Video Solution

2. The first four terms of an AP. having the first

term - 7 and the common difference 3 are

A—T, —10, —13, — 6, ...


https://dl.doubtnut.com/l/_FdvyxcXRL4A8
https://dl.doubtnut.com/l/_FDKB8gsqo2VN

B.—7,4 —1,2, ..

C.—7,4, —1,2, ...

D.—7,10, — 13, 16, ...

Answer: C

° Watch Video Solution

3. Which of the following is the sum of the first

20 natural numbers?

A. 200


https://dl.doubtnut.com/l/_FDKB8gsqo2VN
https://dl.doubtnut.com/l/_cwD6LGQFCFkW

B. 400

C.420

D. 210

Answer: D

° Watch Video Solution

4. For an AP.,ift, =24, n=12,d = 2, then

what is the value of a?

A2


https://dl.doubtnut.com/l/_cwD6LGQFCFkW
https://dl.doubtnut.com/l/_MfLrhMTsjbjp

B.1

C.12

D. 24

Answer: A

° Watch Video Solution

5. What is the 16th term of an A.P. whose first

two terms are 100, 105?

A. 195


https://dl.doubtnut.com/l/_MfLrhMTsjbjp
https://dl.doubtnut.com/l/_IP0ZhciNlQmy

B. 185

C.175

D. 165

Answer: C

° Watch Video Solution

6. If for an AP, d=10, what is the value of tg — %

?

A. 10


https://dl.doubtnut.com/l/_IP0ZhciNlQmy
https://dl.doubtnut.com/l/_uPmOELRzh6RU

B. 20

C.30

D. 40

Answer: D

° Watch Video Solution

7. Which of the following are the terms of an

AP.?

A. 1,3, 6,10,..


https://dl.doubtnut.com/l/_uPmOELRzh6RU
https://dl.doubtnut.com/l/_jwAjuNxrKJ3P

B.3,6,12, 24,...

C. 28, 26, 24, 22,...

D.4,2,3,1,.

Answer: C

° Watch Video Solution

8. What is the sum of first 10 terms of the A.P. 15,

10,5..7

A.-75


https://dl.doubtnut.com/l/_jwAjuNxrKJ3P
https://dl.doubtnut.com/l/_6iazrLugRnn5

B.-125

C.75

D. 125

Answer: A

° Watch Video Solution

9.Foran AP.,ifa = 2and d = 2.5, then which

is the seventh term?

A 17


https://dl.doubtnut.com/l/_6iazrLugRnn5
https://dl.doubtnut.com/l/_9DqCSmgcOPCQ

B.15

C.13

D. 11

Answer: A

° Watch Video Solution

10. The first term of an AP. is 2 and the nth term

is 41. What is the value of n, if S,, = 860 ?

A. 31


https://dl.doubtnut.com/l/_9DqCSmgcOPCQ
https://dl.doubtnut.com/l/_SM9B5r2uF4wu

B.30

C. 41

D. 40

Answer: D

° Watch Video Solution

M. For an AP, a =3 and d = 5 . What is the

value of n, If t{; = 263

A.53


https://dl.doubtnut.com/l/_SM9B5r2uF4wu
https://dl.doubtnut.com/l/_4kV5sv7x8xjT

B. 58

C.85

D. 35

Answer: A

° Watch Video Solution

12.Foran AP.ifa = 1,d = 4. What is the value

of n,ift, = 817

A 22


https://dl.doubtnut.com/l/_4kV5sv7x8xjT
https://dl.doubtnut.com/l/_pLOrq8SmgiHJ

B. 21

C.20

D.19

Answer: B

° Watch Video Solution

13. Which of the following sequences are in A.P.?
(7)1, 3, 6, 10, ... (44)3, 8, 13, 18, ...

(i64)7,4,1, —1,... (i) — 10,13, — 16, 19, ...

A. (i)and(ii)


https://dl.doubtnut.com/l/_pLOrq8SmgiHJ
https://dl.doubtnut.com/l/_8L9fX746L8WX

B. (i)and(iii)

C. (iil)and(iv)

D. (iv)and(i)

Answer: B

° Watch Video Solution

14. What is the common difference of the A.P. 10,

11.5,13,14.5...7

A .15


https://dl.doubtnut.com/l/_8L9fX746L8WX
https://dl.doubtnut.com/l/_o7b0HLdK4dUt

B.-1.5

C.25

D.-2.5

Answer: A

° Watch Video Solution

15. The first term of an AP. is 1 and nth term is

251f S,, = 520,then n =....

A. 45


https://dl.doubtnut.com/l/_o7b0HLdK4dUt
https://dl.doubtnut.com/l/_ujZNuPnFuXrx

B.30

C.50

D. 40

Answer: D

° Watch Video Solution

16. which of the follwing sequence are AP.? (i) 1,
3, 6, 10,.... (ii)1, 4, 7, 10,... (ii1)22, 26,28, 31, (iv) -10,

-13, -16, -19,...

° Watch Video Solution



https://dl.doubtnut.com/l/_ujZNuPnFuXrx
https://dl.doubtnut.com/l/_EydzUzdF9Xsy

17. The nth term of the AP. 3, 8, 13, 18,... Is 148.

Find n.

o Watch Video Solution

18. write the next four terms of an A.P. whose

first term Is 11 and the common difference 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_EydzUzdF9Xsy
https://dl.doubtnut.com/l/_B2Xwc2hn8GzF
https://dl.doubtnut.com/l/_CROqEDx2p9sn

19. For an AP. , t3 =7 and t4 = 3, Find the

common difference and the first term.

° Watch Video Solution

20. Write the next two terms of the AP. 2,5,811,

ooooooooooooo

o Watch Video Solution



https://dl.doubtnut.com/l/_fsBMEWH5mFY6
https://dl.doubtnut.com/l/_fyHcJJzD89Vv

21. The 1st term and the common difference of
an AP. are 10,000 and 2000 respectively . Find

the sum of the first 12 terms.

o Watch Video Solution

22. The first term of an A.P. is —3 and the 10th

term is 15 Find Syg.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZwKprx00DYW5
https://dl.doubtnut.com/l/_ONaPah2JCBeK

23.For an AP, if S19150 and Sg = 125, find %4

° Watch Video Solution

24.Find the 11th term of the A.P. 4,9, 14, ....

° Watch Video Solution

25. Find the 18th terms of the A.P. 7, 13,19, 25

° Watch Video Solution



https://dl.doubtnut.com/l/_4Nqek3yuJjGt
https://dl.doubtnut.com/l/_CqQnG8PTewzp
https://dl.doubtnut.com/l/_HKcrq9Lp0ezD
https://dl.doubtnut.com/l/_uau2F2TYPTrZ

26. Find the common difference of the AP, if

a = 100 and tzo = 176.

° Watch Video Solution

27.Find t12 for the A.P. 12, 9, 6,

° Watch Video Solution

28. There are 25 rows of seats in an auditorium.

The first row is of 20 seats, the second of 22


https://dl.doubtnut.com/l/_uau2F2TYPTrZ
https://dl.doubtnut.com/l/_bpFC6WUeakks
https://dl.doubtnut.com/l/_drbXjg5LHuCj

seats, the third of 24 seats and so on . How

many seats are there in the 21st row ?

o Watch Video Solution

29. Find the sum of the first 100 natural

numbers.

° Watch Video Solution

30. Find the sum of the first 50 even natural

numbers.

| - |


https://dl.doubtnut.com/l/_drbXjg5LHuCj
https://dl.doubtnut.com/l/_Jc6Hb8DrcHux
https://dl.doubtnut.com/l/_zzZnVGwTuYgD

l QJ Watch Video Solution I

31. Find the sum of the first 25 odd natural

numbers.

° Watch Video Solution

32.Foran AP.tg = — 10and ¢4 = — 34.Find

the value of t;.

° Watch Video Solution



https://dl.doubtnut.com/l/_zzZnVGwTuYgD
https://dl.doubtnut.com/l/_l2SYOdy6lnVC
https://dl.doubtnut.com/l/_iHwEtt7fTw6K

33. For an AP.a = 25 and t55 = 500. Find the

common difference d.

0 Watch Video Solution

34. Complete the activity by filling the boxes, to
find S3, if the first term of an AP. is 10 and the
common difference 5.

Activity

Here,a = 10,d = 5, S5y = ?

30

. Sn >

—[204+ (30 — 1) x O]


https://dl.doubtnut.com/l/_ksEuDLPu4ke3
https://dl.doubtnut.com/l/_Pw4Om8XPPvsA

=15 x [20 + O]
= 0O

S30 = U

0 Watch Video Solution

35. Complete the following activity , to find the
two digit numbers which are divisible by 4.
Activity : Two-digit numbers divisible by 4 are 12,
16, 20, ...,96.

s.a=12,d =4,t, = 96

t,= 0O +(n—1) x O ..(Formula)

0 =0 4 (n—1) x4 .(Substituting the


https://dl.doubtnut.com/l/_Pw4Om8XPPvsA
https://dl.doubtnut.com/l/_c6z8Nc2ZeLMI

values)
S0 =8+01 SoAn = [ Son = U
Ans. There are []two-digit number divisible by

4,

° Watch Video Solution

36. The first term of an AP.is 5 and the common
difference is 4. Complete the following activity
and find the sum of first 12 terms of the A.P.

Here,a = 5,d = 4, 515 = ?


https://dl.doubtnut.com/l/_c6z8Nc2ZeLMI
https://dl.doubtnut.com/l/_ITFIZa9acVju

o Watch Video Solution

37. Fill up the boxes and find out the number of
terms in AP. 1, 3, 5 .. 149. Here,

a=1d = 0O,t, = 149

t, =a+ (n—1)d c.149 = [0
549 =2n — O
Sono= L.

o Watch Video Solution



https://dl.doubtnut.com/l/_ITFIZa9acVju
https://dl.doubtnut.com/l/_guVI3q92X43Z

38. Which term of the AP. 3,11, 19, 27,... is 5477

° Watch Video Solution

39. How many two -digit numbers are divisible

by 3?

° Watch Video Solution

40.Find t,, for the AP. 3, 8,13,18, ..

° Watch Video Solution



https://dl.doubtnut.com/l/_ny4JqEvdbKUt
https://dl.doubtnut.com/l/_OM0EQcZvAMQp
https://dl.doubtnut.com/l/_ILZZfz7bbnkw

41. Is the sequence —10, —4,2,8,... is an

A.P.? Find the 31st term, if it is an A.P.

° Watch Video Solution

42. Find the value of t; + 1ty for the AP

7,13, 19, 25, .

° Watch Video Solution



https://dl.doubtnut.com/l/_ILZZfz7bbnkw
https://dl.doubtnut.com/l/_iCklEviMZF8l
https://dl.doubtnut.com/l/_9BT41cKMMyZA

43. Which term of the A.P. 50, 40, 30, 20, ... is the

number -9407?

o Watch Video Solution

44 .Find Sy ifforan AP.a = 10 and d = 3

° Watch Video Solution

1 1

1
45.Find Sy f AP.—, —, —, ...
ind Sp( for an 613

° Watch Video Solution



https://dl.doubtnut.com/l/_75VePOt8NxHT
https://dl.doubtnut.com/l/_cU8s6ryHl3UB
https://dl.doubtnut.com/l/_AM6gakLm0XIZ

46. The sum of the third and seventh terms of
an AP. s 6 and their product is 8. Find the first

term and the common difference of the A.P.

° Watch Video Solution

47. Find the sum of all natural numbers

between 1 and 145 which are divisible by 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_AM6gakLm0XIZ
https://dl.doubtnut.com/l/_uc07YeIQ5DzL
https://dl.doubtnut.com/l/_GSy6rL56HMlc

48. If the 9th and 21st terms of an A.P. are 75

and 183 respectively, find its 81st term.

° Watch Video Solution

49. Find the sum of even numbers between 1 to

300.

° Watch Video Solution



https://dl.doubtnut.com/l/_wA9pVFeO2Duq
https://dl.doubtnut.com/l/_xilMmQKGXbKG

50. The sum of the first 45 terms of an AP. is
3195. Complete the following activity to find the

23rd term.

o Watch Video Solution

51. The sum of three consecutive terms of an A.P.

is 30 and their product is 360. Find the terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ve21zIb75nHh
https://dl.doubtnut.com/l/_gbyOyH38ehJW

52. The sum of four consecutive terms of an A.P.
Is 2. The sum of the 3rd and 4th terms is 11. Find

the terms.

o Watch Video Solution

Practice Set 3 1

1. Which of the following squences are AP.? If

they are A.P. find the common difference.

2,4,6,8,...

I o WMiabll .\ daa Ol ikt


https://dl.doubtnut.com/l/_aaeGrHHNqsgw
https://dl.doubtnut.com/l/_talyrpFUenTV

—_¥vdtilll VIUCTUVU JVIULIVII

2. Which of the following sequences is an AP.? If

they are AP, find the common difference.

5 7
2, 5,3, 5

o Watch Video Solution

3. Which of the following squences are AP.? If

they are A.P. find the common difference

-10, -6, -2, 2,...

° Watch Video Solution



https://dl.doubtnut.com/l/_talyrpFUenTV
https://dl.doubtnut.com/l/_9K6d55RnMZ9q
https://dl.doubtnut.com/l/_zPWIVGmmPuzr

4. Which of the following seqences are A. P.? If

they are A. P. find the common difference.

0.3, 0.33, 0.333,.......

o Watch Video Solution

5. Which of the following seqences are A. P.? I
they are A. P. find the common difference.

0, — 4, —8, — 12u...

° Watch Video Solution



https://dl.doubtnut.com/l/_zPWIVGmmPuzr
https://dl.doubtnut.com/l/_yUNP4Pnm9Fba
https://dl.doubtnut.com/l/_TGqIdQ1JmqzH
https://dl.doubtnut.com/l/_zkq0XglnuLEd

6. Which of the following squences are AP.? If

they are A.P. find the common difference

1 1 1

5, 57 g,...

o Watch Video Solution

7. Which of the following squences are AP.? If

they are A.P. find the common difference

334+ 42,3+ 22,3+ 33, ..

° Watch Video Solution



https://dl.doubtnut.com/l/_zkq0XglnuLEd
https://dl.doubtnut.com/l/_g22nv2KtNBpl
https://dl.doubtnut.com/l/_X6q47mojoEHU

8. Which of the following squences are AP.? If
they are A.P. find the common difference

127,132,137, ...

° Watch Video Solution

9. write an A.P. whose first term is a and
common difference d in each of the following.

a=10,d=5

° Watch Video Solution



https://dl.doubtnut.com/l/_X6q47mojoEHU
https://dl.doubtnut.com/l/_sjjDKcjQENeA

10. write an AP. whose first term is a and
common difference d in each of the following.

a=-3,d=0

o Watch Video Solution

1. write an AP. whose first term is a and
common difference d in each of the following.

-7d-1
a=7,d=3

° Watch Video Solution



https://dl.doubtnut.com/l/_dyrRzgxateJB
https://dl.doubtnut.com/l/_BkPI8U3z1OVJ
https://dl.doubtnut.com/l/_AFu6g98KUBOi

12. write an AP. whose first term is a and
common difference d in each of the following.

a=-125,d=3

° Watch Video Solution

13. write an AP. whose first term is a and
common difference d in each of the following.

a=6,d=-3

° Watch Video Solution



https://dl.doubtnut.com/l/_AFu6g98KUBOi
https://dl.doubtnut.com/l/_zp86S2txGcMs

14. write an AP. whose first term is a and
common difference d in each of the following.

a=-19,d =-4

o Watch Video Solution

15. Find the first term and common difference

for each of the AP.

5,1,-3,-7

° Watch Video Solution



https://dl.doubtnut.com/l/_IhhRdmFsmnIR
https://dl.doubtnut.com/l/_OQNuS2XnVToc
https://dl.doubtnut.com/l/_apjHl8DvxLK5

16. Find the first term and common difference

for each of the AP.

0.6,0.9,1.2,1.5,.....

° Watch Video Solution

17. Find the first term and common difference

for each of the AP.

127,135,143 ,151,....

° Watch Video Solution



https://dl.doubtnut.com/l/_apjHl8DvxLK5
https://dl.doubtnut.com/l/_CX4e2Y4GBmG7

18. Find the first term and common difference

for each of the AP.

o Watch Video Solution

Practice Set 3 2

1. Write the correct number in the given boxes

from the following A.P.

1,8,15,22,...

l o WMiabll .\ daa Ol ik


https://dl.doubtnut.com/l/_WF7alQTA96Sg
https://dl.doubtnut.com/l/_SuTYe7yvu5jB

YvVdtilll VIUCTU JUIULIVII )

2. Write the correct number in the given boxes
from the following A.P.

3,6,9,12,....

o Watch Video Solution

3. Write the correct number in the given boxes
from the following A.P.

-3,-8,-13,-18

° Watch Video Solution



https://dl.doubtnut.com/l/_SuTYe7yvu5jB
https://dl.doubtnut.com/l/_qmZw8QlfI2Pe
https://dl.doubtnut.com/l/_qKOPnibUF9qY

4. Write the correct number in the given boxes

from the following A.P.

70, 60, 50, 40,........
Here, tlz D,t2: D,tgz D, .....
c.a=U,d= 01

° Watch Video Solution

5. Decide whether following sequence is an AP,
if so find 20 term of the progression.

-12,-5,2,9,16,23,30, ...



https://dl.doubtnut.com/l/_qKOPnibUF9qY
https://dl.doubtnut.com/l/_k0SLm2VQklzt
https://dl.doubtnut.com/l/_vKJuSmPFNH36

o Watch Video Solution

6. Find the 24th term of the A.P. 12,16,20,24,....

° Watch Video Solution

7. Find the 19th term of the A.P. 7,13,19,25.....

o Watch Video Solution



https://dl.doubtnut.com/l/_vKJuSmPFNH36
https://dl.doubtnut.com/l/_PJU1w6IEJaAI
https://dl.doubtnut.com/l/_gn2U7Ne6W1I4

8. Find the 27t term of the following AP.

9,4,-1,-6,11,...

° Watch Video Solution

9. How many three-digit numbers are divisible

by 5?

o Watch Video Solution



https://dl.doubtnut.com/l/_lesz6e8zLtCb
https://dl.doubtnut.com/l/_9T1EoSJLUca1

10. The 11*" term and the 21" term of an AP.

are 16 and 29 respectively, then find the 41%"

term of that A.P.

o Watch Video Solution

1. 11,8,5,2, ... In this A.P. which term is number

-1517

o Watch Video Solution



https://dl.doubtnut.com/l/_i0LZNb9HpFfB
https://dl.doubtnut.com/l/_0L972eez2hmV

12. In the natural numbers from 10 to 250, how

many are divisible by 47

o Watch Video Solution

13.1n an AP. 17" term is 7 more than 10" term.

Find the common difference?

o Watch Video Solution

Practice Set 3 3


https://dl.doubtnut.com/l/_gUG8IU7VuWFR
https://dl.doubtnut.com/l/_EBFTsrf3JovD
https://dl.doubtnut.com/l/_4PR5Y7NU3Cwj

1. First term and common difference of an A.P.

are 6 and 3 respectively : Find Sy;

° Watch Video Solution

2. Find the sum of first 123 even natural number.

° Watch Video Solution

3. Find the sum of all even number between 1 to

350.

° Watch Video Solution



https://dl.doubtnut.com/l/_4PR5Y7NU3Cwj
https://dl.doubtnut.com/l/_fplP0mMRV5TK
https://dl.doubtnut.com/l/_hqur5tevKcxt

4.In an AP. 19" term is 52 and 38" term is 128,

Find sum of first 56 terms.

° Watch Video Solution

5. Find the sum of all humbers from 1 to 140

which are divisible by 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_hqur5tevKcxt
https://dl.doubtnut.com/l/_yrgM2CnLrJ62
https://dl.doubtnut.com/l/_9bPR9FM0vKDi

6. Sum of first 55 terms in an A.P.is 3300,find its

28 term.

° Watch Video Solution

7.1n an A.P. the sum of three consecutive terms
is 27 and their product is 504. Find the terms. (

Consider the terms to be in ascending order. )

o Watch Video Solution



https://dl.doubtnut.com/l/_zJzQYQCFLfxr
https://dl.doubtnut.com/l/_IlQo1ndWry7q

8. Find four consecutive terms in an A.P. whose
sum is 12 and the sum of 3" and 4 term is 14.

(Let four consecutive terms be a -d ,a,a+d, a+2d)

o Watch Video Solution

9. If the 9th term of an AP is zero, then prove

that its 29th term is twice its 19th term.

o Watch Video Solution

Practice Set 3 4


https://dl.doubtnut.com/l/_DhIXHy8sK1X0
https://dl.doubtnut.com/l/_aG5Z7HVoc9Nu

1. On 1st Jan 2018, Sanikadecides to save Rupees
10,Rupees 11 on the second day, Rupees 12 on
the third day . She decides to save like this .
What would be her total savings at the end of

the year ?

o Watch Video Solution

2. A man Borrows Rs. 8000 and agrees to repay
with a total interest of Rs. 1360 in 12 monthly

instalments. Each instalment being less than


https://dl.doubtnut.com/l/_kGKMuyOqR9vN
https://dl.doubtnut.com/l/_GGPfLBS732T2

the preceding one by Rs. 40. Find the amount of

the first and last instalments.

° Watch Video Solution

3. Sachin invested Rs. 5000 for the 1st year, Rs.
7000 for the 2nd year, Rs. 9000 in the 3rd year
in National Savings Certificate scheme. How

much amount did he invest in 12 yearsgt

° Watch Video Solution



https://dl.doubtnut.com/l/_GGPfLBS732T2
https://dl.doubtnut.com/l/_sXa1Fr6QIUPb

4.There is an auditorium with 27 rows of seats.
There are seats in the first row, 22 seats in the
second row, 24 seats in the third row and so on.

5" row and also

Find the number of seats in 1
find how many total seats are there in the

auditorium?

° Watch Video Solution

5. Kargil's temperature was recorded in a week
from Monday to Saturday. All readings were in

AP. The sum of temperatures of Monday and


https://dl.doubtnut.com/l/_NMSEgi83cLDE
https://dl.doubtnut.com/l/_iKKJymnaoOQy

Saturday was 5oC more than sum of
temeratures of Tuesday and Saturday. If
temperature of Wednesday was —30 o C Then

find the temperature on the other five days.

° Watch Video Solution

6. On the world environment day tree
plantation programme was arranged on a land
which is triangular in shape. Trees are planted
such that in the first row there is one tree, in

the second row there are two tree, in the third


https://dl.doubtnut.com/l/_iKKJymnaoOQy
https://dl.doubtnut.com/l/_vOYEGUYytEfN

row three trees and so on. Find the total

number of trees in 25 rows.

° Watch Video Solution

7. Choose the correct alternative answer for

each of the following subquestions:

(1) The sequence —10, — 6, — 2, 2, .

A.is an AP,reasonsd = — 16

B.is an AP.,reasons d =4

C.isan AP.,reasonsd = — 4


https://dl.doubtnut.com/l/_vOYEGUYytEfN
https://dl.doubtnut.com/l/_MSZmxH9z0bEN

D.is not an A.P.

Answer: B

° Watch Video Solution

8. The first four terms of an Ap whose first term

is -2 and the common difference is -2 are

A—20,2 4

B.-2,4,-8,-16

C.—2 —4, —6, —8


https://dl.doubtnut.com/l/_MSZmxH9z0bEN
https://dl.doubtnut.com/l/_MSQOHbqKvAl0

D.-2,-4,-8,-16

Answer: C

° Watch Video Solution

9. What is the sum of the first 30 natural

numbers?

A. 464

B. 465

C.462


https://dl.doubtnut.com/l/_MSQOHbqKvAl0
https://dl.doubtnut.com/l/_wdU4Jy6UrRUt

D. 461

Answer: B

o Watch Video Solution

10. For an AP. if t; =4.d = — 4then

A.6

B.7

C.20


https://dl.doubtnut.com/l/_wdU4Jy6UrRUt
https://dl.doubtnut.com/l/_B3u1FeoI98xX

D. 28

Answer: D

o Watch Video Solution

1. For an AP.if a = 3.5,d = 0,n = 101, then

o= ....

A.O

B.3.5

C.103.5


https://dl.doubtnut.com/l/_B3u1FeoI98xX
https://dl.doubtnut.com/l/_zB6Dc9BHNTat

D. 104.5

Answer: B

° Watch Video Solution

12. The 21st term of an AP whose first two terms

are -3 and 4, is

A.-143

B. 143

C. 137


https://dl.doubtnut.com/l/_zB6Dc9BHNTat
https://dl.doubtnut.com/l/_ygxpue5nMBRe

D. 17

Answer: C

o Watch Video Solution

13.If foran AP, d = 5, thent;g — t;13 = ....

A5

B. 20

C.25

D. 30


https://dl.doubtnut.com/l/_ygxpue5nMBRe
https://dl.doubtnut.com/l/_YDy4mPkD3pA6

Answer: C

° Watch Video Solution

14. The sum of first five multiples of 3 is

A. 45

B. 55

C.15

D.75

Answer: A



https://dl.doubtnut.com/l/_YDy4mPkD3pA6
https://dl.doubtnut.com/l/_NaObxvI7CuSB

o Watch Video Solution

15. The sum of the first ten terms of the

A.P.1510,5,....is......

A.-75

B.-125

C.75

D. 125

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NaObxvI7CuSB
https://dl.doubtnut.com/l/_0KlpCkNnFsWY

16. The sum of an A.P.is 1 and the nth term is 20.

If S,, = 399, thenn = .....

A 42

B. 38

C. 21

D. 19

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0KlpCkNnFsWY
https://dl.doubtnut.com/l/_WX2SnHDqqYh6
https://dl.doubtnut.com/l/_CSdeSd6ngY4h

17. The 4th term from the end of an AP -11, -8, -5,

vy 49 IS

° Watch Video Solution

18. The sun of the 5th and the 7th terms of an

AP is 52 and the 10th term is 46. Find the AP.

° Watch Video Solution

19. Find the sum of the first ten terms of the A.P.

whose 4th term is -15 and 9th term is -30


https://dl.doubtnut.com/l/_CSdeSd6ngY4h
https://dl.doubtnut.com/l/_LnCLRy67xmIo
https://dl.doubtnut.com/l/_9b9Fem6DVBXM

° Watch Video Solution

20. Two A.P's are given 9,7,5.and 24,21]18,...If nth
term of both the progressions are equal then

find the value of n and n* term

° Watch Video Solution

21. If sum of the 3rd and the 8th terms of an AP
is 7 and the sum of the 7th and 14th terms is -3,

then find the 10th term.

I o WMiabl .\ daa Ol ik


https://dl.doubtnut.com/l/_9b9Fem6DVBXM
https://dl.doubtnut.com/l/_va0mXxbbsU3d
https://dl.doubtnut.com/l/_nj6bjf8wqVap
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22.In an AP, first term is -5 and last term is 4b5.
If sum of all the numbers in the AP. is 120, then
how many terms are there? What is the

common difference.

o Watch Video Solution

23. Sum of 1 to n natural numbers is 36, then

find the value of n.

o Watch Video Solution



https://dl.doubtnut.com/l/_nj6bjf8wqVap
https://dl.doubtnut.com/l/_jYc37F48Q1GU
https://dl.doubtnut.com/l/_IYWxhhZytgTT

24. Split 207 into three parts such that these
are in AP. and the product of the two smaller

parts is 4623.

o Watch Video Solution

25. An AP consists of 37 terms. The sum of the

three middle most terms is 225 and the sum of

the last three terms is 429. Find the AP

° Watch Video Solution



https://dl.doubtnut.com/l/_IYWxhhZytgTT
https://dl.doubtnut.com/l/_KN2OSWz6ylvU
https://dl.doubtnut.com/l/_HywdjGOujuxq
https://dl.doubtnut.com/l/_NpnbwKpl6f35

26. Show that the sum of an AP whose first term

is a, the second term b and the last term c, is

(a +¢)(b+ ¢ — 2a)
equal to :
2(b— a)

° Watch Video Solution

27.The sum of first p- terms terms of an AP.is q
and the sum of first q terms is p, find the sum of

first (p + q)

o Watch Video Solution



https://dl.doubtnut.com/l/_NpnbwKpl6f35
https://dl.doubtnut.com/l/_ozW4dfxhK5Wj
https://dl.doubtnut.com/l/_WhGUNPBVAjJO

28. If m times the mth term of an AP is equal to
n times its nth term, then show that (m + n)th

term of an AP is zero.

° Watch Video Solution

29. Rs. 1000 is deposited at 10 per cent simple
interest. Check if the interest amount at the end
of every year is in AP. If this is AP. then find
amount of the interest after 20 years. For this

complete the following activity.

° Watch Video Solution



https://dl.doubtnut.com/l/_WhGUNPBVAjJO
https://dl.doubtnut.com/l/_5y8SL9w5c2qM



https://dl.doubtnut.com/l/_5y8SL9w5c2qM

